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Correct Option selected Wrong Option selected or Not Answered Correct Option

Q.No: 1 Yenis the official currency of which country?

A South Korea
B Philippines
Cc Japan

D China

Q.No: 2 OPEC is formed by five Producing developing countries in Baghdad in September 1960.

A Electronic ltems

B oil

C Robotics

D Aritifical Intelligence

Q.No: 3 shivalik hills are part of which of the following?

A Satpura

B Western Ghats
Cc Aravali

D Himalayas

Q.No: 4 Which of the following was not one of the States which was merged to form Madhya Pradesh in 1956?

A Vindhya Pradesh
B Madhya Bharat
C Bhopal

D Nagpur

Q.No: 5 The War of 1812 was fought between the US and

A Germany

B Russian Empire
c Canada

D Great Britain

Q.No: 6 The Rashtriya Gunakar Mule Samman is given to personalities for their achievements in -

A Hindi Software, Search Engine, Web Designing, Digital Language Lab, Programming, Social Media, Digital Audio-Visual Editing etc.
B the protection of music, culture and art

Cc development of Hindi language and its dialects by persons of foreign origin

D Scientific and Technical Writing and Text Books in Hindi

Q.No: 7 Which of the following female tennis player has won the Golden Slam in 1988?

A Martina Navratilova
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Q.No: 8

A
B
C
D

Q.No: 9

o O W

Q.No: 10 What amount has been allocated to Madhya Pradesh under the Jal Jeevan Mission by the Union Government for 2021-22?

A

Q.No: 11

o O W

Q.No: 12

o O W

Q.No: 13

O O w

Q.No: 14

o O w

Q.No: 15

Margaret Court
Steffi Graf

Serena Williams

Which homegrown Fast-Moving Consumer Goods (FMCG) Company has proposed to pump in Rs.500 crore for setting up a manufacturing facility in

Smart Industrial Park (SIP) at Pithampur?
Dabur

ITC

Britannia

Hindustan Unilever

Where was the first dry port built in Madhya Pradesh?
Satna

Mandideep

Pithampur

Khajuraho

Rs 6,329 crore
Rs 7,167 crore
Rs 5,117 crore
Rs 1,395 crore

Which of the following statements regarding Tokyo Olympics 2020 is not correct?
China won the most medals.

India finished 48th with seven medals.

The official motto of Tokyo Olympics 2020 was “United with Emotions”.

This was the 32nd edition of the Olympics.

Who among the following ended the Mauryan dynasty in 185 B.C.?
Brihadratha

Vikramaditya

Pushyamitra Shunga

Ajathshatru

Jamwantki caves and temples are located in the area of:
Satpura Tiger Reserve

Van Vihar national forest

Singhori wildlife sanctuary

Pench Tiger Reserve

Who among the following leaders was associated with Azad Hind Fauz as its founder?
Madan Mohan Malviya

Lala Lajpat Rai

Abul Kalam Azad

Ras Bihari Bose

Qutubudin Aibak, the first ruler of Delhi Sultanate, had constructed Qutub Minar around-
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Q.No: 16

o O W

Q.No: 17

o O w

Q.No: 18

O O w

Q.No: 19

Q.No: 20

O O w

Q.No: 21

o O W

Q.No: 22

o O W >

1399
1299

Dilwara Jain temple is situated in which of the following place?
Mount Abu

Jaisalmer

Bhopal

Gwalior

The 'Tulsi Utsav Raghunathgatha' is a -days celebration.

two
four
five

three

The Mahakaleshwar Temple of Khargone depicts the architecture of which dynasty?

Gupta
Chandela
Paramara

Maurya

Michael Phelps, popularly known as the Flying Fish, has won how many gold medals in the Olympics?

22
23
24
25

BHEL stands for__

Bhopal Heavy Electronics Limited
Bharat Heavy Elecctricals Limited
Bhopal Heavy Electricals Limited

Bharat Heavy Electronics Limited

Not a cause of air pollution is
Burning of garbage.
Burning of crackers.
Industries releasing harmful gases and smoke.

Electrical vehicles

Directions: The following question consists of two statements one labeled as “Assertion” and the other as
“Reason”. You have to examine these two statements carefully and select the correct answer to the question

from the given options.

Assertion(A):Water does not get polluted by washing the clothes in the running water of the river.

Reason(R):Detergents used for washing the clothes pollute the water.

Both A and R are true
Both A and R are false
Alis true but Riis false.

Alis false but Riis true.
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Q.No: 23

Q.No: 24

o 0O w >

Q.No: 25

Q.No: 26

O O W

Q.No: 27

o O W

Q.No: 28

O O w

Q.No: 29

Q.No: 30

Symptoms of rabies start to appear within 90 =175 days of .

Human bite
Mosquito bite
Dog bite

Cat bite

Directions: The following question consists of two statements one labeled as “Assertion” and the other as
“Reason”. You have to examine these two statements carefully and select the correct answer to the question

from the given options.

Assertion (A): The bio magnification of a river causes the water suitable to drink.

Reason (R): The level of toxicity increases as it is passed from one level of an organism to the other level’'s

organism, resulting in hazardous outcomes.

The (R) statement is the correct reason for the (A) statement.
The (A) is the wrong statement.

The (A) is the correct statement.

The (R) statement is not true.

_____is obtained by chemical treatment of wood pulp.
Cotton

Rayon

Polyester

Nylon

Which amongst the following is not a characteristic feature of phanerogams/spermatophytes?
gametophytes are nutritionally dependent upon sporophytes.

they are seed-bearing plants

fertilization does not require an external water source.

they are seedless plants

Which of the following is the basic unit of classification?
kingdom

genus

family

species

Which of the following is one of the major phyla of invertebrate animals?
algae

Echinodermata

bryophytes

reptiles

Which one the following is the characteristic feature of gymnosperms?
cedar

inconspicuous unisexual flowers

simple plant

flowering showy plant

What are the major sources of salty water?
Tub, tap water and glaciers

Ocean bodies and glaciers
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Q.No: 31

o 0O w

Q.No: 32

O O w

Q.No: 33

O O W

Q.No: 34

o O W

Q.No: 35

Q.No: 36

O O W >

Q.No: 37

River, ponds and springs

Seas and ocean bodies

Water containing lead causes

Reproductive problem
Mental retardedness
Nervous system issue

Sound problem

Quicksilver is also called:
Lead

Mercury

Calcium

Arsenic

Natural gas is a mixture of gas.

Ketones
Alcohols
Hydrocarbons

Amines

Which of the activity is considered to be healthy?
Sleeping early

Using a phone for long hours

Sleeping late

Physical inactivity

What does a decrease in blood supply in the heart can lead to?

Nausea
Tiredness
Stroke

Heart attack

Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the
second, and the two statements are logically consistent with the main statement.

If you interrupt her continuously, she will throw you out

A. you interrupted her continuously

B. you did not interrupt her continuously
C. she threw you out

D. she did not throw you out

DA

DB

BC

BD

In the following question, choose the pair/group of words that shows the same relationship as given at the top of every pair/group.

Bird : Nest :: Cow :
Jungle
Cave

Den

&, ArerTe R FRA
g 3R AgrTR e

SargH Ut R g
ST T

A Hear

<f3renT d= Y wET

eaf gaen

foRrefRieer @t ag oft e sTrar &:

UThfaeh 19 ____ T ot fAsmoT 81
He

AT

GEEICaCE]
T

i i iR ey A s 82
STt AT

S GHY A I HT FRIATA FeAT
RAAH R

Hifaes FfSraar

g § ¥h & oYl R g © T 8 ThaT 82
Herett
URHE
3T

Re sk

g Mgy F AR U SR IUSF A1G AR HUF §1 HUA
TfE T I TR ST P &, <t I8 STkl ameR e
A. 3T I TR S1fda fowam

B. STUR I TR et et e

C. 35 g aTex thek foam

D. IE STueh! aTeR e thept

DA

DB

BC
BD

39 fehea 1 Ta o St IR 2ree @ It yepR T
ueft : gige T
uc

&

Page -5


https://testbook.com/
https://play.google.com/store/apps/details?id=com.testbook.tbapp

Q.No: 38

Q.No: 39

Q.No: 40

Cowshed

Select the option that will come next in the given series?

X

o O

X

X

0

O

O

Select the option that is related to the third term in the same way as the second term is related to the first term.

GWR: HZW
DMU
DMT
DNU
DNT

Which answer figure will complete the pattern in the question figure?
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Q.No: 41

O O W

Q.No: 42

O O W >

Q.No: 43

O O W >

Q.No: 44

o O w >

Q.No: 45

Zﬁy

Find the odd word out.
South America

India

New Zealand

South Africa

In the given diagram, Circle represents the farmers, Rectangle represents educated and Triangle represents rice.

How many farmers are educated?
8
10

ij
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Select the option /number which is related to 3* number in the same way as 224 number is related to 2 38 HEAT [EheT # =TT F

15t pumber?

4:25u27:7

64
81
21
43

In the given figure, Which number represents wild Animals with big claws?

Mo tails Big claws

b
)
298

Wild animals

3,8
2,9

59

Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the
second, and the two statements are logically consistent with the main statement.

When she comes home, she brings sweet
A. she came home

B. she did not come home

C. she brought sweet

D. she did not bring sweet

DA

T wEfRT §
4:25:27:7

64

81

21

43

& 7 Sepfar H, - e 92 uSH aret St Sire

Mo tails Big claws

b
)
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Wild animals
3,8
2,9

59

g Mg s F AR U SR IWSF A1G AR HUF §1 HUA
ST 95 TR ST 8 af AraTs @t &

A. T8 R M TS

B. 98 R el 3s

C. 78 fAraTg a1

D. 7 fireTé et a1

DA

Page -7


https://testbook.com/
https://play.google.com/store/apps/details?id=com.testbook.tbapp

o O W >

Q.No: 46

Q.No: 47

O O W >

Q.No: 48

o O @ >

Q.No: 49

O 0O W »

DA

DA
AC
CcD

If the mirror is placed on the line, then which of the answer figure is the right mirror image of the given figure?

A

| [ |4 [ || FY

In the following question, a series of letters is given. Some letters have been removed in these series, and they are in the options given below the
series in the same order as they should be. Study the given series carefully out of the four alternatives given below, and find the one that best fits in
place of the missing letter of the series.

a_ba_chaac_aa_ba
cabc
ccbb
cbceb

cacb

Suresh's sister is the wife of Ram. Ram is Rani’s brother. Ram'’s father is Madhur. Sheetal is Ram’s grandmother. Rema is Sheetal’s daughter-in-law.
Rohit is Rani's brother’s son. Who is Rohit to Suresh?

Nephew
Son
Brother-in-law

Brother

Find the wrong term in the series?

2,4,12,48,240,1444
240

48

1444

12

DA

DA
AC
CcD

Tfg e gdor ot g21fE 8 e vk T S, at & 1 e
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Frafafaa nwr 7 srerl &t ge sjzgen & 78 §1 57 9w
QAR ket & @ &1 78 sfgeT &1 egde e

a_ba__cbhaac_aa__ba

cabc
ccbb
cbcb

cacb
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240

48
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Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the
second, and the two statements are logically consistent with the main statement.

g Mgy F ARy U SR IUSF A1G AR HUF §1 HUA
afe s sfereRTRe AR R fRAprd forad & dF sifdrerd
A. 3T rfireRer ik o fRrehrara fergt

B. STUR SHTferepTRep iR W fRvehraa e fordt

C. iR 3 Sae ez

D. Sieehr % &1g Srare et fear

The officer will respond if you write complain officially.
Q.No: 50 A. you wrote the complain officially

B. you did not write the complain officially

C. The officer responded

D. The officer did not respond

A BD BD
B DB DB
C DA DA
D BC BC

Select the option /number which is related to 3™ number in the same way as 2% number is related to ¢ 3 TEAT [fAsed F1 994 &

QNo:§1 1t number? TE ¥ TEfoT
1234 :484 5 172927 1234 :484 11729 :

A 225 225
144 144
c 169 169
D 361 361
Select the letter-cluster that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first letter-cluster. I SNER-TTE T 9T B Sl AR HER-TE & 34!
ae:s2 DCEF: QPRS :: XWYZ :? DCEF: QPRS :: XWYZ :?
A IHGF IHGF
B SRQP SRQP
c KJLM KJLM
D STUV STUV

Mr. Thakare starts jogging
from his home to the nearby
park. He jogs 7 m towards east
and then jogs 9 m to his left.
He then jogs 6 m to his right
and then jogs 11 m towards
north. He then jogs 13 m
towards west. How far is he
from the starting point, in

Q.No: 53 oft ST SO TR B UTH & UTeh A ST Y el 6| a6 T i 3R 7 Fiex ST et & SR R 9 #iex A ofk SifffiT ot 81 R g 1o arfeeft ok 6 +fie SiffiT v & o R 11

meters?
A 20 20
B 18 18
Cc 25 25
D 16 16
Select the option that is related to the fourth number in the same way as the second number is related to the first number. I e o1 7o e ot et T @ St yeR Gaf
oot 12:146::7:227 12:146::7:227
A 17 17
B 15 15
Cc 13 13
D 14 14
Q.No: 55 Kusum is the wife of Ravi, Govind and Prabhu are brothers. Govind is the brother of Ravi. Prabhu is Kusuma's? A, 3 ueht &1 Mg 3k wy g &1 Mifde, <
A Brother-in-law FegAAl
B Brother o
C Cousin wfor
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Uncle

Q.No: 56 Find the single discount equivalent to a series of 30%, 20%, and 10% is 30%, 20% 3R 10% §T & THH THd
A 49.4% 49.4%
B 51% 51%
c 49.6% 49.6%
D 50% 50%
QNo: 57 Simplify: 316-[103- {50 +3(17 — 14)}] TE BT 316-[103 - {50 +3(17— 14
A 300 300
B 272 272
Cc 281 281
D -272 -272
QNo: 58 The price of a neckles, passing through three hands, rises on the whole by 65%. If the first and second sellers gained 20% and 25% profit & §R & i, A kst & ToRa g8, 65% a
o respectively, find the percentage profit gained by the third seller. 1 T R
A 12% 12%
B 22% 27%
c 10% 10%
D 18% 18%
aNo:s9 The greatest of the following number ¥8,%¥16,413,%a1 fuafafed 79 s EI?E‘DI S|
A 216 16
B s s
c Wia1 a1
D 3 13
QNo:60 If5x+ 3y =7 and 125x3 + 27y? = 280, then the value of the product of x and y is: gl 5x + 3y=7and 125x3 + 2
. 1 1
] 2]
B 1 1
15 15
c 1 1
45 45
b 1 1
9 9
5 1 % .
QNo: 61 Find the compound interest on Rs. 2470 at the rate of 7% per annum for l% vears when interest is 2470 &0 15 a¥ & 7% 9t
compounded half vearly. affs &9 ¥ gaifea forar =g £
A Rs.391.3789 Rs.391.3789
B Rs.555.85621 Rs.555.85621
Cc Rs.281.3442 Rs.281.3442
D Rs.188.9870 Rs.188.9860
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Q.No: 62 Sonu read one third of 105 pages. How many more pages he need to read to complete the lesson? 77 105 g8t & § Ues fagrs g8 ug f urs A @ &

A 20 90
B 55 55
c 70 70
D 50 50
Q.No: 63 Simplify: 166+30=6—7x2 T R 166 +30 =672
A 145 145
B 157 157
Cc 100 100
D 155 155
Q.No: 64 Find the profit/loss in percentage, if the cost price of 15 notebook is equal to the selling price of 20 notebooks? af 15 Fegen 1 54 ged 20 Aegs & kg g &
A 45% loss 45% gify
B 25% less 25% gify
C 25% profit 25% &9
D 45% profit 45% ST
The average age of A, B and C was 25 years and that of B and C was 25 years. A's present A, B 3R C &t 3t amg 25 af oft 3k B ok C it 8
Nor6s age is: I FTE?
A 24 years 24 af
B 25 years 25 a4
c 22 years 22
D 26 years 26 ad
Solve: AR
Q.No: 66
{7456 x6+12.12+4-1.5%x1.5-[70.56-8.4x 6+ (15.15+ 3 + 5.5 of 4)]} {7456 x6+12.12+4-1.5%x1.5-[70.56 - 8.4 x
A 400.94 400.94
B 400.84 400.84
Cc 400.83 400.83
D 400.93 400.93
aNo:67 Ifa+b=8 and ab = 13. find the value of a2 —ab + b? . gfda+b=8 3R ab =13 %’i
A 24 24
B 20 20
c 29 29
D 25 25
Q.No: 68 Find the compound interest on Rs.15600 for 9 months at 32% per annum compounded quarterly. 15600 ¥U2 T 32% Tfd e Y &z & 9 7L a1 Tshgf
A Rs.4051.5072 Rs.4051.5072
B Rs.61245.6134 Rs.61245.6134
C Rs.45098.4387 Rs.45098.4387
D Rs.389.3454 Rs.389.3454
Q.No: 69 Whatis the value of (4.6 + 3.1 — (4.6-3.1)°? (4.6+3.1P— (4.6 -3 1P BTHF I B
A 53.32 53.32
B 58.86 58.86
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Q.No: 70

Q.No: 71

o O W >

Q.No: 72

O O W >

Q.No: 73

O O W

Q.No: 74

04.08

57.04

What fraction of 4 hours is 18 seconds?

In the question given below, two statements are given followed by two conclusions | and Il. You have to consider the
statements to be true even they seem to be at variance from commonly known facts. You have to decide which of the
given conclusions, if any follow from the given statements.

Statements:

All slates are pencils.

All slates are pens.

Conclusions:

|. Some pens are not pencils.

Il. Some pens are pencils.

Both conclusion | and Il follow
Neither conclusion I nor Il follows
Conclusion | follow

Conclusion Il follows

04.08

57.04

4 €% 18 Tchs & forg o Fma

R Ry 7Tq usr B &1 e quT 3T ggd & fse | g |1 g e § | simueRt fig
HUT:
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Il. 3B 9 AR &1

e | ofie 1| G argemor e &
Tt freemd | ok 7 @Y 1| SrgeRvT T @
Frseref | srgERoT et @

forsemef 11 SrgRoT AT

In the following guestion, the statements are followed by conclusions. Study the conclusions based on the given  HeaTaf@d 93 &, Fo=1 & g =@

statements and select the appropriate option as your answer.
Statements:
G»*R=2E=AZT=S
Conclusions:
I.G=E
ILR=A
Only conclusion Il is true
Only conclusion | is true
Either conclusion | or Il is true

Neither conclusion I nor Il is true

In a row of 30 students, A is 14 from right end. Then find the rank of A from left end.

14
16
17
15

Arrange the following words in a logical and meaningful order.
1. Writing

2. Book

3. Seller

4.dea

5. Feedback

6. Reader

4,1,2,6,3,5

fow aTw werEt & TR O ey &
E3icH

G>*RzE=A<T=<5S

o=

I.G=2E

ILRzA

hael fAewd llaa @

Ghad fAsd | 5@ @

grat fAerd larllga @
Fatferd lsiRadt g d

30 BT H gep Ut A A TR BR T 143 I W B
14
16
17
15

Frafafea el &t ge drfchen gaf srefgef o & 2
1.9
2. qWh
3. fagsar
4. fEr
5. ufagfe
6. UTSH

4,1,2,6,3,5
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Q.No: 75

o O W >

Q.No: 76

o O W

Q.No: 77

O O W

Q.No: 78

o O W >

Q.No: 79

O O W >

4,1,2,6,5,3
4,1,3,6,5,2
4,1,2,3,6,5

In the following questions, two statements are given followed by two conclusions (I) and (Il). You have to consider the statements to be true even if
they seem to be at variance from commonly known facts. You are to decide which of the given conclusions, if any, follow from the given

statements. Indicate your answer.

Statements: “Use sketch colours. They add colour to your life.” -An advertisement said.

Conclusions:

|. That Statement doesn't attract people.
II. People like dark colors.

Neither | nor Il follows

Either | or Il follows

Only conclusion Il follows

Only conclusion | follows

Identify the set for the number 6458.
MINU
MUIN
INUM
MIUN

Identify the set for the number 3425.
SIEU
SIUE
SRUI
SEIU

4,1,2,6,5,3
4,1,3,6,5,2
4,1,2,3,6,5

e wsif 7, < e 2 frsed |, 11 @1 srgeRoT a
At & afe e gt dt e T R

HYU: " T BT IART R S ST Sia 7 AT R
e

|. Ig Y A Y ST el AT B

11, ST TR T OIS AR B

Tat | R T & Il SR e @
arat | ar | SERoT T @
haet fsere || srgERoTr shear @
haet fserd | srgeRoT et @

e 6458 & Ay TE T Y uga™ HifSg)
MINU
MUIN
INUM
MIUN

Tt 3425 & o w8l T & uga™ HifSg)
SIEU
SIUE
SRUI
SEIU

In the following guesticn, the statements are followed by conclusions. Study the conclusions based on the given Grafef@g vea &, F¥=T & ag =0

statements and select the appropriate option as your answer.

Statements:
G=H;H=<E
Conclusions:
I.G<E
II. G=E

If only Il follows
If neither I nor Il follows
If either | or Il follows

If only | follows

few 317 FerEt & U 91 TRy &
HIA:

G=H;H=E

foread:

I.G<E

II. G=E

Faet e llaa @
Fatfrerd | efiRa @ llaa g

a1t e 1o lla=r @

e e g @

In the following question, the statements are followed by conclusions. Study the conclusions based on the given FFafaiad 92 H, TU=AT & a1 %

statements and select the appropriate option as your answer.

Statements:
D=zF=Hz=z=1I
Conclusions:
I.LD=H
ILI<D

If neither Conclusion I nor Il is true
If only Conclusion | is true

If only Conclusion Il is true

If either Conclusion | or Il is true

2w 710 FHeraT & HER 5 Ay @ v
F:

D=F=Hz=1I

fore=:

I.D=H

I.I<D

gy T at freened | siR A &t ll @ @
af Faer freend | v @

af Fae freand Il v &

gfe arat frend o llaa @
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Q.No: 80

o O W >

Q.No: 81

O O w

Q.No: 82

o O W >

Q.No: 83

o 0O W >

Q.No: 84

o O W

Q.No: 85

In question below are two statements followed by two conclusions numbered | and Il. You have to take the given statements to be true even if they
seem to be at variance from commonly facts and then decide which of the given conclusions logically follows from the given statements.

Statements:

|. Some luffa are figs.

11. All figs are lemons.
Conclusions:

|. Some lemons are luffa.

Il. Some figs are lemons.

Neither conclusion I nor Il follows.
Only conclusion II follows.

Either conclusion | or Il follows.

Both conclusions | and Il follows.

If in a symbolic language ‘STAGE' is written ‘TUBHF’ then ‘STRANGER’ will be written in the same language as?

TUBSOHFS
TUSBOHFS
TUBOFSHS
TUSOBHFS

Two statements are given followed by two conclusions numbered | and . Assuming the statements to be true, even if they seem to be at variance
with commonly known facts, decide which of the conclusions logically follow(s) from the statements.

Statements:

1.Some teachers are philosophers.
2.Some philosophers are writers.
Conclusion:

|. some writers are teacher

1. No writer is a teacher

Neither conclusions | nor Il follows
Only conclusion I follows

Only Conclusion Il follows

Either conclusion I or Il follows

Arrange the following words as per their order in the English dictionary.

1. Dyke

2. Dwindle
3. Dwell
4. Dye
3,4,2,1
1,3,4,2
3,2,4,1

2,1,3,4

If in a symbolic language ‘BAT’ is written ‘DCV’ then ‘MAN’ will be written in the same language as?

OPC
PCO
cop
ocpP

i g g wr F <t e ofR 3Tk 9T & fAwh | of
&RAT ¢ 1 Ry 7y et A @ e 1 Fse difdhen &

FHUT:

|. 3® aRs SR &1

1. gt sisfiz fig &

frsep:

. g g kg &

Il. B SR g &

= at e | 3R 7 & 1l srgwRor et &1
hae fsnd || rgERoT et 81

a1 &t A | 3 | ST et &1

¥ foreeed | o 11 srgeror et 1

gfe; foeft Fidhfaer wmer & 'STAGE' &t 'TUBHF' forar s
TUBSOHFS
TUSBOHFS
TUBOFSHS
TUSOBHFS

& el & a1e &t A | ok 11 Ry Ty 1 Ry g s
T AT ATfeheh T § SIEROT AT 1

U

3o e i 81

3o arife aEes 81

fren:

I. $® ci@eh ferh §

I1. Y Pareh fRrereh TE &

= at fArseef |71 &t 11 rgeror et @
haet fserd | srgeRoT T @
haet fsend || SrgERor et @

a1 &t freemd | 3 1| SrgERoT et @

FrfafRa el ot st sreaeter & g mg e & 3
1. Dyke

2. Dwindle

3. Dwell

4. Dye

3,4,2,1

1,8,4,2

3,2,4,1

2,1,3,4

gfe; et Tichfares e & '‘BAT' &l 'DCV' forar Smg a
oPC
PCO
CoP
ocP
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In the following questions, two statements are given followed by two conclusions (1) and (1l). You have to consider the statements to be true even if ~fm=ff@a usi &, <t wum @ Frsay |, 1| &1 srgERUT &
they seem to be at variance from commonly known facts. You are to decide which of the given conclusions, if any, follow from the given HUT & afg Fsne gt at et T AR
statements. Indicate your answer.

HYA: Tg AT Heg s Toha ¢ Faifch it aresd are

Statement:
frsef:
This chapter can help because all good chapters help.
T g Ueh 3TTsT e el 8
Conclusions:
<Y U8 Ueh 3T e g1
A This is not a good chapter. .
ot hYS 3T AT Heg gl
B This is a good chapter.
< O IS ST WEE HA gl
C No good chapter help.
D Some good chapters help.
A Only conclusion | follows haet s | srgeRoT e @
B Neither | nor Il follows Tt e T & Il SrgeRor T @
Cc Either | or Il follows arat | 4t |l SgEROT HAT @
D Only conclusion Il follows haet frsed || SrgERoT e &
Q.No: 86 Y and Z can finish a work in 50 days. They work together for 15 days and then left. How much of the work is left? Y ©d Z foneft o vt 50 et H v Tend & SR 15 1
L 2
A 2 2
2 2
B - =
5 5
1 1
c - -
7 7
D 10 10
No: 87 Shiv can finish 25% of a work in a day. Ram can finish 12.5% of the same work in a days, fi}lﬁ'q?i FTHFT 25% UF B9 ® vE Ewe
Q.No: when will both of them finish the work together ? trmre T g e aeeo
A 2.67 days 2.67 =
B 2.33 days 233fR=
c 3.67 days 3.67 =
D 3.50 days 3.50 =1
Q.No: 88 How long does a train, 75m long, moving at 60 km/hr take to pass a certain telegraph post? 75 oY, et uen Yermet 60 fReR. /6 iy arer @ fonef
A 5.4 seconds 5.4 9chs
4.5 seconds 4.5
o] 3.5 seconds 3.5 chs
D 5 seconds 5dhs
Q.No: 89 If 31 boys earn Rs.1240 in 4 days, what will 32 boys earn in 8 days? afe 31 wigdh 4 Rt # 1240 3@ wwra €, F 32 e
A Rs.3320 Rs.3320
B Rs.2560 Rs.2560
Cc Rs.4320 Rs.4320
D Rs.6709 Rs.6709
Two person X and Y moving from same point and same time and same direction with speed of 15 A BIKTYOF H THT WS E

Q.No:90 kmy/h and 12 km/h the speed of person Y increased by % km/h every after 1 hr. After what time X
and Y will meet.

=fRa v & e Rerge weh ¢ x

A 9 hrs. 9w
B 15 hrs. 15%¢
Cc 12 hrs. 1292
D
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The traffic lights at 3 different road crossings change after every 48 sec, 72 sec and 108 sec respectively. If they all change simultaneously at 8:220 3 I{THT-37elTT 38 SHITRIT TR Eftheh TiTgeH e A

@:No: 91 am, then what time they will again change simultaneously ? Ay R & o a1y Feeli?
A 9:12am |qag 912 9%t
8:27 am g 8:27 Tt
o] 8:33 am |aE 8:33 @<t
D 8:40 am qag 8:40 7t
Q.No:92 If a 9-digit number 32x4114y2 is divisible by 88, then the value of (4x —y) for the smallest possible value of y, is: afe gep 93kt hY T 32x4114y2 88 ¥ frerrswr @
A 7 11
B 20 20
c -3 -3
D 31 31
Q.No: 93  Prakash can do a piece of work in 366 days. How much work can he do in 6 days? TRTRT Yok T ht 366 ft & v Tehar 81 a8 6 et
1 1
A " 21
1 1
B &1 &1
¢ 13 13
3 3
b % 2
Q.No: 94 If 5x+5(2 - x) + 10 = 4x — 6 then value of x is : ARG 5x+5(2-x)+10=4x-6 A X RIAF &:
A 8 8
B 2 2
c 6.5 6.5
D 4.5 4.5
DIRECTIONS: Complete the following series. Far: fFrafafEa sfea @t g
Q.No: 95
4,11,25,53,109,221, ___. 4,11,25,53,109,221, ____.
A 464 464
445 445
Cc 442 442
D 542 542

Two train running towards each-other at the speed of 50 km/hr and 60 km/hr from station A and B. When two trains meet each other, the second Y Yt gen-gER &t ok A 3R B R @ e !

Q:No: 96 train covered 120 km more distance than first train. What is the distance between both stations? gl Jermet & 120 frrh. Sarer ¢ aa et &1 @t
A 1440 km. 1440 frt.

B 1320 km. 1320 farsft.

Cc 1200 km. 1200 farsft.

D 990 km. 990 fameft.

Q.No: 97 The sides of a triangle are 24 cm, 32 cm and 40 cm. What is the height of the perpendicular drawn on the longest side? Qe st Y AT oo shmsr: 24 Jf, 32 Sft.
A 21.33cm 21.33 9+

B 25cm 25 @+t

c 19.2cm 19.2 9+

D 20 cm 20 @+t

Q.No: 98 What is the sum of the digits of the least number, which when divided by 15, 18 and 27 leaves the same remainder 9 in each case and is also T S T 3 o A 2, O 15, 15 o

completely divisible by 11?
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Cc 12 12
D 20 20
Q.No: 99 Which of the following is divisible by 29? Frfafea § @ @9 29 @ R 82
A 875829 875829
B 864133 864133
Cc 951458 951458
D 148964 148964
Q.No: 100 The least number which when divided by 4, 5, 6 and 7 leaves 3 as remainder, but when divided by 9 leaves no remainder is: Ig A H&T 71 Hfod, i 4, 5,6 SR 7@ e
A 864 864
423 423
C 848 848
D 432 432
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